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CHAPTER TEST -1

BIO-BOTANY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5*1=5

1. Choose the correct statement from the following
a ) Gametes are involved in asexual reproduction
b ) Bacteria reproduce asexually by budding
¢ ) Conidia formation is a method of sexual'reproduction
d) Yeast reproduce by.budding
2. First cell of male gametophyte inangiosperm is
a ) Microspore b ) Megaspore
¢ ) Nucleus d") Primary Endosperm Nucleus
3. A Plant called X possesses small flower with reduced perianith and versatile
anther/The probable agentfor pollination would be
a ) water b) air
¢ ) butterflies d ) beetles
4. Assertion : Sporepollenin preserves pollen in fossil deposits.
Reason : Sporopollenin is resistant to. physical and biological decomposition.
a-)_Assertion is true; reason is false
b ) Assertion is false; reason.is true
¢ ) Both Assertion and reason are not true
d ) Both Assertion and reason are true
5. Which of the following represent megagametophyte?

a)Ovule b ) Embryo.sac
¢ ) Nucellus d ) Endosperm
VERY SHORT ANSWER 2*2=4

6. Define the term Diplospory.
7. What is layering?

SHORT ANSWER 2*3=6
8. A detached leaf of Bryophyllum produces new plants. How?

9. What is.polyembryony? How it can commercially exploited?

LONG ANSWER 1*5=5
10. Give a detailed account on parthenocarpy. Add a note on its significance
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